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 0.5 = 1   2 

    ............ .........  ʨؔśن ƌʱʺॽʀ نA  ƑʺʤŸƅ ( 10 )نŕॽʱƅت نʛʱʺƅدد نƌʱʺॽʀ ȑʚƅ نřƅŕŸſƅ   ى1
 

 Ɠž نȈȞʷƅ نȈŗŕƂʺƅ أŕʻŝء ʖȄʛƂś نʧƈ ʝॽʡŕʻżʺƅ نʨȞǽ ȆƆʺƅن   ى2

 .................. .....    ( a   ʖʢƁنʛʢƅف ) 

   
✓0.5 = 1   2  

 : ʨȞǽن Ȑʨʱʶƈ ŕƎʽž نȆƆʺƅ نŕƎʱʺॽʀ ƓœŕȃʛƎؗ ʙƅʨƈ ȆƆƈ Ɠž řॽœŕȃʛƎؔƅ نƓž ȐʨʸƂƅ نřʤʴƆƅ نźƆʰś  Ɠʱƅ نʨƂƅة نʙƅنřŸž ى1
  Ɠʶॽʡŕʻżʺƅل نŕʳʺƅن ȋʨʢŦ ƑƆŷ ŕًǽدʨʺŷ                   Ɠʶॽʡŕʻżʺƅل نŕʳʺƅن ȋʨʢʵƅ ŕًȄنثʨƈ 

  لŕʳʺƅن ȋʨʢŦ Ŷƈ دةŕţ řȄثنو Ŷʻʸǽ Ɠʶॽʡŕʻżʺƅن           Ɠʶॽʡŕʻżʺƅل نŕʳʺƅن ȋʨʢŦ Ŷƈ řŠʛſʻƈ řȄثنو Ŷʻʸǽ 

 

 Őžن ثنوȋʨƂŬ řȄ نŕʳʺƅل ŕʶśوŕʶʱƔ ŕƈʙʻŷ2(2)m   ȑوȐ نȘžʙʱƅ نƓʶॽʡŕʻżʺƅ و ʙŮة نŕʳʺƅل نƌʱţŕʶƈ Ţʢʶƅ Ɠʶॽʡŕʻżʺƅ  ى2

฀ 0.5                  60 ฀                   40 ฀      100 ฀       
0.5 = 1   2  

 ʙŠʨś إŕŮتة ʨƊŕƁ Ɠž řॼƅŕŬن ŕžتندنȑ  ى1
..............................................................................................................................................................................

.............................................................................................................................................................................. 
 

ʨƈŕʻƔʙƅن Ɠž ʗʽžنʛʳƅن نŕʱŮʛž : 
  ...................... ...................................... .............................................................................................. .............................. 
 

  2=  2 1

 Ύϫέρϗ ϑλϧ Δϳέ΋΍Ω ΔϘϠΣ(22) cm  ϪΗΩη ϡυΗϧϣ ϲγϳρΎϧϐϣ ϝΎΟϣ ϲϓ ˱ΎϳΩϭϣϋ Δϋϭοϭϣ(1)T    ΝέΎΧ ϲϟ· ΔϔϠϟ΍ ΕΑΣγ˵
 ϝϼΧ ϲγϳρΎϧϐϣϟ΍ ϝΎΟϣϟ΍(0.25) s   ΔϳΛΣϟ΍ Δϳ΋ΎΑέϬϛϟ΍ Δόϓ΍Ωϟ΍ ΓϭϘϟ΍ ΏγΣ΍ 

.............................................................................................................................. ............................................................................... 
............................................................................................ .................................. ............................................................................... 

.............................................................................................................................. ............................................................................... 

.............................................................................................................................. ............................................................................... 

................................................................................................................................................................. ............................................ 

.............................................................................................................................. ............................................................................... 
.............................................................................................................................. ............................................................................... 
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0.5 = 1   2  

 (     )                       نŕॽʱƅت نʛʱʺƅدد نʨƍ Ƒʰʽʳƅ نŕॽʱƅت ʛʽżʱƈ نʙʷƅة ŕॽʤʴƅ وʛʽżʱƈ نȆʸƊ Ȉؗ Ƌŕʳśƛ دوتة  ى1
˻-   ř ʛؗʴʺƅة نʨƂƅن نʨؔśƋثŕʱʳǽ ȑʚƅن Șžʙʱƅم نʙŸʻƔ ŕƈʙʻŷ Ƒʺʤŷ ȆƆƈ Ɠž ةʙƅʨʱʺƅن řȄʛʽŝōʱƅن řॽœŕȃʛƎؔƅن         (     ) 

✓0.5 = 1   2   

 ( Őž řſƅذن ŕؗن نʵƅننننȌ نƓž200   ƓƊŕॽʰƅ نʙŷ Ɠʰƅʨƅ ȆƆƈ ȈȞʷƅد ƌśŕſƅ )  ى1
      ( Ɠʶॽʡŕʻżʺƅن Șžʙʱƅنت نʛʽżś ʧʽʰƔ ʦŬʛƅŕǼ ŢŲʨʺƅن Ȉؗ ثŕʱʳǽ ȑʚƅن ) 
      ( ʧƈʜƅن Ŷƈ ȆƆʺƅت نŕſƅ ʧƈ řſƅt  نŐž ) نتʙƂƈ ř ʛؗʴʺƅة نʨƂƅنřŸžنʙƅن   
      ʗƅʨſƅة نʙţʨŗ ȆƆʺƅن Ɠž ةʙƅʨʱʺƅن řȄʛʽŝōʱƅن ʶś ȑوŕ: 
        0.08                       0.04                     80                      2 x 10-4                  

 :  نʨƅŕǼ řؔƆƎʱʶʺƅنت  نŕž řॽœŕȃʛƎؔƅن نʙƂƅتة ŕƂƈ Ƒž Ω (1.2 )وřƈ أوŕॽś A (5 ξ૛  ) ʛʺǽ řॽƈت ʛʱƈدد ƌśʙŮ نƑʺʤŸƅ  ى3
                6                  30                0      60  

0.5 = 1   2  

 ȑʨʱʶƈ نʨȞǽ ŕƈʙʻŷƈ ȆƆ ʙƅʨƈ تŕॽʱƅن Ɠʺʤŷ ƌʺॽʀ Ɠʶॽʡŕʻżʺƅن Șžʙʱƅن نŐž Ɠʶॽʡŕʻżʺƅل نŕʳʺƅن Ƌŕʳśن ƑƆŷ ȑدʨʺŷ 
........................................................................................... .................................. ............................................................................... 

.............................................................................................................................. ............................................................................... 
 

 ؟ 
........................................................................................... .................................. ............................................................................... 

 
2 = 2   1 

ƌƅʨʡ ʥƆŬ(0.25) m   كʛʴʱƔƑƆŷ  řʱŗŕŝ řƈوŕƂʺǼ řƂƆżƈ řȞŬR = (4) ȳ   
  ȑدʨʺŷ ʦʤʱʻƈ Ɠʶॽʡŕʻżƈ لŕʳƈ Ɠž řŷʨŲʨƈ ةʙţون řƎŠ ʧƈƑƆŷ  ƌśʙŮ řȞʶƅن ȑʨʱʶƈ 
 (0.1)T  řʺʤʱʻƈ řŷʛʶǼ řƂƆżʺƅن řƎʳƅن ʧŷ ًنʙʽŸǼ ʥƆʶƅن ʖʴŬُ(2)m/s        
 نʙƂƈ ʖʶţنت نʨƂƅة نʙƅنřŸž نřॽœŕȃʛƎؔƅ نřॽʲʴƅ ن (  

............................................................................................ .................................. ...............................................................................  
................................................................................................................................................ ............................................................. 
.................................................................................................................................................................................................. ........... 

 ب( نʖʶţ نŕॽʱƅت نƓœŕȃʛƎؔƅ نŕًʻʽʰƈ Ɠʲʴƅ نƌƍŕʳś ي  
............................................................................................ .................................. ...................................................................... .........  

.............................................................................................................................. ............................................................................... 

.............................................................................................................................. ............................................................................... 

.............................................................................................................................. ............................................................................... 
     انتهت اأسئلة
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0.5 = 1   2  

 ( نŕʱʳǽ ȑʚƅث   Ɠž نʛʽżś ʧʽʰƔ ȈȞʷƅنت نȘžʙʱƅ نƓʶॽʡŕʻżʺƅ )  ى1

  ʧƈ řſƅ Ȉؗ ȆƆƈ تŕſƅ  ȑʛœدن  ( ʧƈʜƅن Ŷƈt )  ( ƌśŕſƅ دʙŷ200   řſƅ ) 
    ř ʛؗʴʺƅة نʨƂƅن نŐž řŸžنʙƅييييييييييييييييييي ن ȑوŕʶś ȆƆʺƅŕǼ řȄʛʽŝōʱƅن  ʗƅʨſƅة نʙţʨŗ 

 يي ȋʨʢŦ ƑƆŷ نŕʳʺƅليييʨȞǽن نŕॽʱƅت نȑʛʽŝōʱƅ نȆƆƈ Ɠž ʙƅʨʱʺƅ نʨƈŕʻƔʙƅ نʨȞǽ ŕƈʙʻŷ ʧȞʺǽ ŕƈ ʛʰƄن Ȑʨʱʶƈ نȆƆʺƅ ييي ى2
✓0.5 = 1   2  

 ʙƂƈ  ʦʤʱʻƈ Ɠʶॽʡŕʻżƈ Șžʙś1.6نتƌॽ  ( Ƌ( ŕʱʳǽث ʨʸǼتة ʨʺŷدŶȃʛƈ ŢʢŬ40 cm  Ɔŷ řǽ نʨʡ ȈȞʷƅل ƌŸƆŲ )  ى 1

wb   :  Ɯʶʱƅة نʙţʨŗ Ţʢʶƅن نʚƍ لƜŦ Ɠʶॽʡŕʻżʺƅل نŕʳʺƅة نʙŮ نʨؔʱž ) 

฀   0.1                 0.64 ฀                4 ฀       10 ฀    
  نƑʻʴʻƈ ʧƈ řƅŕŸſƅ نŕॽʱƅت نʛʱʺƅدد نƑʰʽʳƅ نȈȞʷƅŕǼ ŢŲʨʺƅ نʨؔś ȈŗŕƂʺƅن نřʺॽʁƅى  2   
    řȄوŕʶƈ ʛʽʰƈƛŕǼ ددʛʱʺƅت نŕॽʱƅة نʙʷƅ  : 

5            5 ξ૛             10 ξ૛               10    
0.5 = 1   2  

 ŕʺƆؗ ثندت ʙŷد نŕſƆƅت ʜśدند řȃʨŸŰ دŕƂʺǼ Ȉʸʱƈ ȆƆƈ Ɠž ʝॽʡŕʻżƈ ŶžوŕŦ řƈتřॽŠ  ى1
.............................................................................................................................................................................. 

.............................................................................................................................................................................. 

 ʛʴʱƔ ŕƈʙʻŷك نƓžʛ   ʝॽʡŕʻżʺƅ نȈȞʷƅ نŕƈ ȈŗŕƂʺƅذن ʙʴǽث ʛƂƅنءة نʱʽƈʨƊŕſƆʳƅ ى2

   ȆƆʺƅن ʧƈ بʛƂƅŕǼ  ؟ ʖʰʶƅن ʛؗذ Ŷƈ ؟  ŕƎƅŕʲƈأ řŝƜʲƅ تŕſƆƅد نʙŷ دندʜƔ و 
.............................................................................................................................................................................. 
.............................................................................................................................................................................. 

   2 = 2   1                                                                                        
   ϖΑρϣϟ΍ ΩΩέΗϣϟ΍ ΩϬΟϟ΍ ϕέϔϟ ΔϟΎόϔϟ΍ ΔϣϳϘϟ΍ ϰϠϋ   Δϓέλ Δϳϣϭ΃ ΔϣϭΎϘϣȍR=(20)   ϭϫ= (11.2) v  rmsV 

˺- έ΍ΩϘϣ ΏγΣ΍ ΔϟΎόϔϟ΍ έΎϳΗϟ΍ ΓΩη 
............................................ ............................................................................... ........................................................................ 
............................................ .......................................................................................................................................................   
............................................ ....................................................................................................................... ................................ 

˻-   ΔϣϭΎϘϣϟΎΑ Δϳέ΍έΣϟ΍ ΓέΩϘϟ΍ 
................................................................................................................................................................ 

................................................................................................................................................................ 
................................................................................................................................................................ 

 انتهت اأسئلة 
 
 
 
 

Wb)) 

8 

4 

t ( s ) 

I ( A ) 

10 



         

 

2021 / 2022

0.5 = 1   2  

             ʙƅʨʱƔ نŕॽʱƅت نƓž ȑʛʽŝōʱƅ نƓž ȆƆʺƅ نȈȞʷƅ نȈŗŕƂʺƅ ى1

   ييييييييييييي  ʝॽʡŕʻżƈ(a)  ًŕॼʢƁ ونʛʢƅف  (ab)إذن ŕؗن  

 ي ȋʨʢŦ ƑƆŷ نŕʳʺƅليييʨȞǽن Ȑʨʱʶƈ نȆƆʺƅ يييʨȞǽن نŕॽʱƅت نȑʛʽŝōʱƅ نȆƆƈ Ɠž ʙƅʨʱʺƅ نʨƈŕʻƔʙƅ نŕƈʙʻŷ ʧȞʺǽ ŕƈ ʛʰƄ  ى2
✓0.5 = 1   2  

 
 
 
 
 

ľ- ƑʺʤŸƅن ƌśʙŮ ددʛʱƈ تŕॽś  A (5 ξ૛  ) řॽƈأو řƈوŕƂƈ Ƒž ʛʺǽ Ω (1.2  )ƅن نŕžřȄنتʛʴƅن řƁŕʢ řʳśŕʻƅن řƂॽʀل دƜŦ    لʨʳƅŕǼ 

                              2500                     1800                              0     60   

0.5 = 1   2  

 ʧƈ نŶŲʨƅ نʨʺŸƅدŕƂŷ Ŷƈ ȑتب نʟƁŕʻʱƔ řŷŕʶƅ نȘžʙʱƅ نʙƅʨƈ               Ɠʶॽʡŕʻżʺƅ نŕॽʱƅت ʙʻŷ دوتنن ȆƆƈ  ى1
.............................................................................................................................................................................. 

.............................................................................................................................................................................. 
Ɠʺʶś نŕƂʺƅوřƈ نƗوŕƂʺƅŕǼ ƌॽƈوřƈ نřžʛʸƅ   ى2

..............................................................................................................................................................................
.............................................................................................................................................................................. 

2 = 2   1

 ƌśŕſƅ دʙŷ ددʛʱƈ تŕॽś ʙƅʨƈ(200)  řſƅ Ȉؗ řţŕʶƈ řſƅ2(10) cm  ƌʱƈوŕƂƈ وȳ(10)   ř ʛؗʴǼ تʨʴƈ لʨţ وتʙʽƅ عʨŲʨƈ
ōǼ ŕًʺƆŷن řʤʴƅ Ɠž نȋʨʢŦ ʗƊŕؗ ʛſʸƅ نŕʳʺƅل  ŕʳʺǼ(5)Tل Hz  ƌśʙŮ ʦʤʱʻƈ Ɠʶॽʡŕʻżƈ (60)دنřʺʤʱʻƈ řȄʛœ و ʛʱŗدد 

 ʝſƊ ŕƎƅ نȑʨʱʶƈ řţŕʶƈ ƌʳʱƈ Ƌŕʳś نŕſƆƅت 
˺-  ϑϠϣϟΎΑ ΓΩϟϭΗϣϟ΍ Δϳ΋ΎΑέϬϛϟ΍ Δόϓ΍Ωϟ΍ ΓϭϘϠϟ ϲϣυόϟ΍ ΔϣϳϘϟ΍ ΏγΣ΍ 

.............................................................................................................................. ............................................................................... 

..................................................................................................................................................................... ........................................  

.............................................................................................................................. ............................................................................... 
˻- ϳϘϟ΍ ΏγΣ΍ϑϠϣϟΎΑ ΓΩϟϭΗϣϟ΍ ϲΛΣϟ΍ έΎϳΗϟ΍ ΓΩηϟ ϲϣυόϟ΍ Δϣ . 

........................................................................................... .................................. ............................................................................. 

........................................................................................... .................................. ............................................................................. 
 

 انتهت اأسئلة 


